




3



4



5



B
A C

DETAIL A
SCALE 1 : 5

DETAIL B
SCALE 1 : 1

Bolt M8x12

Nut M8

8x in total DETAIL C
SCALE 1 : 1

Bolt M8x12
Nut M8

4x in total
1 3 42

Position 1 Position 3Position 2

Trellis for planter

Date: 12-5-2025

Installation Guide Dimensions: mm

www.mysteel.eu

/ 11Page:

6



 4
00

 

 900/1100 

 1000/1200 

 1
00

0 

 1
40

0 

Position 1

Position 3

 4
00

/5
00

 

 1000/1200 

 4
5 

 =
 

 4
5 

 =
 

Position 2

 4
00

 

 400/500 

 1
17

5 
 1

75
 

 1
00

0 

 =  = 

Trellis for planter

Date: 12-5-2025

Technical drawing Dimensions: mm

www.mysteel.eu

/ 11Page:

7



8


